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'DODP�SHQ\XVXQDQ�7XJDV�$NKLU� LQL SHQXOLV�PHQGDSDWNDQ�EDQ\DN�EDQWXDQ�

GDQ� GXNXQJDQ� GDUL� EHUEDJDL� SLKDN�� 2OHK� NDUHQDQ\D� SHQXOLV� PHQJXFDSNDQ�

WHULPDNDVLK�VHEHVDU�EHVDUQ\D�NHSDGD��

�� $OODK� 6:7 \DQJ� WHODK� PHPEHULNDQ� UDKPDW� GDQ� NDUXQLD�1\D� VHUWD� NHODQFDUDQ

VHKLQJJD�SHQHOLWLDQ�GDQ�SHQ\XVXQDQ�EXNX�7XJDV�$NKLU�LQL�GDSDW�WHUVHOHVDLNDQ�

�� 1DEL�0XKDPPDG�6$:� \DQJ�WHODK�PHPEHULNDQ�VXUL�WDXODGDQ \DQJ�EDLN�NHSDGD�

XPDW�NKXVXVQ\D�NHSDGD�SHQXOLV�

�� .HGXD�RUDQJ�WXD�SHQXOLV�\DNQL�%DSDN�+��$PXK�0DKPXG GDQ�,EX +M��1LQLHN�

+HUDZDW\ DWDV� � GLGLNDQ� GXNXQJDQ�� GRD� GDQ� NDVLK� VD\DQJQ\D \DQJ� WHUXV�

PHQJLQVSLUDVL�SHQXOLV�XQWXN�PHQMDGL�RUDQJ�\DQJ�VXNHV GDQ�EHUPDQIDDW�EDJL�RUDQJ�

ODLQ�VHUWD�NHOXDUJD�NKXVXVQ\D�

�� %DSDN %XGKL�,UDZDQ�6�6L���07��GDQ�%DSDN�8QDQJ�6XQDU\D�67��07�� VHODNX�

GRVHQ�SHPELPELQJ�\DQJ�WHODK�PHPEHULNDQ�ELPELQJDQ�GDQ�DUDKDQ�NHSDGD�SHQXOLV�

VHKLQJJD� SHQHOLWLDQ� LQL� GDSDW� GLVHOHVDLNDQ� 'DQ� %DSDN� 6XU\D� 0LFKUDQGL�

1DVXWLRQ� 67��07� VHODNX� GRVHQ� ZDOL� \DQJ� WHODK PHPEHULNDQ� ELPELQJDQ� GDQ�

DUDKDQ�VHODPD�NXOLDK���WDKXQ�LQL�

�� 'RVHQ�GRVHQ�SURJUDP�VWXGL�6� 6LVWHP .RPSXWHU \DQJ WHODK PHPEHULNDQ�LOPX

\DQJ�VDQJDW�EHUPDQIDDW NHSDGD�SHQXOLV�

�� 5HFLWR�*LJLK�3UDVLGKD��5L]DO�+LGD\DWXOORK��WHULPDNDVLK�VXGDK�PHQMDGL�SDUWQHU�

NHORPSRN�WXJDV�DNKLU \DQJ�EDLN�

�� 6HPXD� SLKDN� \DQJ� WLGDN� GDSDW� GLVHEXWNDQ� VDWX� SHUVDWX� \DQJ� WHODK� PHPEHULNDQ�

EDQ\DN�EDQWXDQ�VHKLQJJD�WXJDV�DNKLU�LQL�GDSDW�GLVHOHVDLNDQ�
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